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HOLIDAY HOMEWORK (AUTUMN BREAK) (2021-22)
CLASS : XI COMMERCE
SUBJECT : ACCOUNTANCY

Show the accounting equation from the following transactions and prepare a Balance Sheet on the
basis of the same :

1. Sneha started a business with Cash Rs. 50000 and goods Rs. 25000

2. Purchased Machinery 5000
3. Paid salaries 2000
4. Wages amounted to Rs. 3000 out of which paid in cash Rs. 1400

5. Prepaid insurance

6. Goods sold for cash (cost price Rs. 4000) 6000
7. Depreciation on machinery 500
8. Rentreceived 2000
9. Withdrawn for personal use 1000
10. Deposited into bank 13000
11. Withdrawn from bank for office use 1500
12. Paid for stationery by cheque 800
13. Interest allowed on capital 1000
14. Goods destroyed by fire 500
15. Sold goods to vijay 20000
16. Vijay was declared insolvent. A dividend of 25 paise in a rupee could be realized from his estate.

From the following transactions pass journal entries, prepare appropriate ledger and a trial balance.

April 1 Alok started a business with Furniture of Rs. 50000, Cash Rs. 80000 and
machinery of Rs. 40000
5 Purchased goods from Nilay was paid the amount immediately 15000
8 Sold goods to Shivam 18000
10 Purchased stationery 1000
15 Opened a bank account with cash 2000
20 Goods given away as charity 1000
26 Received from Shivam on account 9000
30 Cheque received from Shivam Rs. 4000
May 3 Paid to Nilay Rs. 17800 in full settlement of his account
6 Withdrawn from business for personal use 2000
8 Paid salaries 4000
outstanding wages 2000
10 Purchased goods from Koushik of Rs. 20000. Half of the amount was paid
immediately.
June 8 Deposited Shivam’s cheque into bank
July 9 Paid interest by cheque 500
Aug 5 Paid cartage 300
March Depreciate Machinery and Furniture by 10%
31

3. Write short notes on

i) Money Measurement Concept
ii) Matching Principle

iii) Revenue Recognition Principle
iv) Historical cost Principle

v) Principle of Conservatism

4. Explain the qualitative characteristics of Accounting Information.




BUSINESS STUDIES

PROJECT 1
Visit a Departmental Store. You are required to submit a report on the following observations:
a) Different departments and their lay out
b) Nature of products offered for sale

c) Display of fresh arrivals

d) Promotional campaigns

e) Spaces and advertisements

f)  Assistance by sales personnel

g) Billing counter at store — Cash, Credit Card/Debit Card, swipe facility. Added attractions and facilities

at the counter
h) Additional facilities offered to customers
i)  Any other relevant aspect

PROJECT 2
Collect samples of Cheque, Bank Draft, Pay-in-slip, Withdrawal slip and write short notes on each one of them
PROJECT 3

Collect information about the opening of following types of accounts and prepare a report :
a) Savings Account
b) Current Account
c) Recurring Deposit Account
d) Fixed Deposit Account
e) Multi Option Deposit Account



KENDRIYA VIDYALAYA AFS BAGDOGRA
AUTUMN BREAK ASSIGNMENT
CLASS XI SUBJECT: ECONOMICS

1. The following table gives the daily income of ten workers in a factory.
Find the Arithmetic Mean.

Workers | A B C D E F G H I J

Daily 120 | 150 |180 |200 [250 |300 |[220 |350 |370 |260
income

(in )

2. Which would be suitable in the following cases?

(i) Average size of readymade garments.




(ii) Average intelligence of students in a class.

(iii) Average production in a factory per shift.

(iv) Average wage in an industrial concern.

(v) When quantities of the variable are in ratios.

(vi) When the sum of absolute deviations from average is least.

(vii) In case of open-ended frequency distribution.

3. The following table gives production yield in kg per hectare of wheat
of 150 farms in a village. Calculate the mean, median and mode values.

Production |50- |[53- |56- |59- |62- |65- |68 |[71- |74-
yield (kg 53 56 59 62 65 68 71 74 77
per

hectare)

Number of |3 8 14 30 36 28 16 10 5
farms

4. The following table shows the estimated sectoral real growth rates
(percentage change over the previous year) in GDP at factor cost.

Year Agriculture and | Industry Services
Allied Sectors

1994-95 5.0 9.2 7.0




1995-96 -0.9 11.8 10.3
1996-97 9.6 6.0 7.1
1997-98 -1.9 5.9 9.0
1998-99 7.2 4.0 8.3
1999-2000 0.8 6.9 8.2

5. How does the procedure of drawing a histogram differ when class
intervals are unequal in comparison to equal class intervals in a
frequency table?




KENDRIYA VIDYALAYA AFS BAGDOGRA
Autumn Break Assignment
Subject —English

Class-XI

Q 1. TENSE- Choose the correct option

1. IL.... working all afternoon and have just finished the assignment.
a. have been
b. b. Had been
c. shall be
d. d.Am
2. Rohan ...... the movie before he read the review.
a. Watches
b. Have watched
c. Had watched
d. Was watching
3. He..... in the States but still does not have command over English language.
a. Have been living
b. Has been living
c. Have lived
d. Living
4. By the month, we shall.... the project.
a. Has completed
b. Completing
c. Completed
d. Have completed
5. Every boy and girl..... in the class today.
a. Are present
b. Is present
c. Have present
d. Had present
6. He .....daily for a year now.
a. Exercises
b. Was exercising
c. Has been exercising
d. Have been exercising
7. 1. this book since morning.
a. Had been reading
b. Has been reading
c. have had read
d. Shall be reading
8. Which tense is used to express general truths and facts?
a. Present continuous tense
b. Present perfect tense
c. Past perfect tense
d. Present indefinite tense
9. According to the prevailing rate, two dozen .....rupees one hundred.
a. Costs



b. Cost

c. Costing
d. Costed
10. The council....made its decision.
a. Have
b. Have had
c. Has
d. Having

11. What do tenses as the form of a verb help to determine?
a. The time of the action
b. The state of the action
c. Bothe (a) and (b)
d. The number of the action
12. Which tense is used to show the completion of an action by a certain time in the future?
a. Future perfect tense
b. Present indefinite tense
c. Future perfect continuous tense
d. Both (a) and (b)
13. The wise leader and politician..... assassinated.

a. Are
b. Were
c. Are
d. Was
14. Sita or her brothers .... to be blamed.
a. Is
b. Has
c. Are
d. Was
15. The chief guest, with his wife....... .
a. Has left

b. Are leaving
c. Have left
d. Left

Q2. DETERMINER- Choose the correct option.

I. .. of the two sisters is married.
a. Both
b. Every
c. Each
d. Any
2. of you should attend the conference.
a. Both
b. Each
c. Every
d. Many
3. We should inform ........... of the them.
a. Many

b. Every
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c. Few

d. All
They have spent ..... for their son’s wedding.
a. Many
b. Enough
c. All
d. The little
.......... of the candidates pass this exam.
A. Enough
B. Fewer
C. Either
D. Most
........ of the deadlines is met.
a. Neither
b. No
c. None
d. Most
Can 1 borrow..... sugar?
a. Much
b. Some
c. Alittle
d. Afew
. With this , you have lost..... chance that you had.
a. A little
b. Little
c. The little
d. Slight
..... participants left the meeting in between.
a. Several
b. Much
c. The few
d. Little

It seems that they would need .... workers for the construction.
Little

Either

More

Some

.......... man that we saw turned out to be a thief.

a o op

Nobody
Everybody
. Somebody
He told me that...... .... blue was her favourite colour.



a. A

b. The

c. This

d. None of the above
14. He should work ....... and take a break.

a. Less

b. Little

c. Alittle

d. More
15. You can pick ... of two.

a. Many

b. More

c. Either

d. Some

Q 3. Your club is going to organise an inter-class singing competition. Write a notice in about 50 words
inviting names of the students who want to participate in it. Give all the necessary details.

Q. 4.When cricket teams go abroad, the members are allowed to take their wives, even friends along with
them. Does this fact distract them or help them focus on their game in a better way? If it is good, why don’t
we allow our athletes to enjoy the same privilege? Write a letter to the editor of a National daily in 125-150
words giving your views on the issue.
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KENDRIYA VIDYALAYA AFS BAGDOGRA
AUTUMN BREAK ASSIGNMENT
CLASS- XI
MATHEMATICS

Complete the activities below in your activity copy.

1) Distinguish between a Relation and a Function.

2) Interpret geometrically the meaning of i=v—1 and its integral powers.

Activity list: https://drive.qoogle.com/file/d/1rbuyayiTCi-
1epDN91IwWDMmMUROQgTEFtn/view

Lab manual:
https://classroom.google.com/u/2/c/Mzc4dMzE4AMjg1MzM3/m/MzkyNzl|
wM|EyMDqg?2/details

Activity submission link:
https://classroom.google.com/c/Mzc4MzE4MjolMzM3/a/INDA2MzAzN

1'Y2MTqgO0/details

**open the above links through your G-suite id.


https://drive.google.com/file/d/1rbuyayiTCi-jepDN91wDMmURQhgTEFtn/view
https://drive.google.com/file/d/1rbuyayiTCi-jepDN91wDMmURQhgTEFtn/view
https://classroom.google.com/u/2/c/Mzc4MzE4Mjg1MzM3/m/MzkyNzIwMjEyMDg2/details
https://classroom.google.com/u/2/c/Mzc4MzE4Mjg1MzM3/m/MzkyNzIwMjEyMDg2/details
https://classroom.google.com/c/Mzc4MzE4Mjg1MzM3/a/NDA2MzAzNjY2MTg0/details
https://classroom.google.com/c/Mzc4MzE4Mjg1MzM3/a/NDA2MzAzNjY2MTg0/details

